

$$\lim_{a \rightarrow -1} \frac{\sqrt{r+1} - \sqrt{r+1}}{1 + \sqrt{r}} \xrightarrow[\text{HOP}]{\frac{0}{0}} \frac{\frac{r}{2\sqrt{r+1}}}{\frac{1}{2\sqrt{r+1}}} = \frac{r}{1} = r$$

$$a \rightarrow -1$$

$$a \rightarrow 0, \sqrt{r+1}$$

$$= \frac{1 - \frac{r}{r}}{\frac{1}{r}} = \frac{-\frac{r}{r}}{\frac{1}{r}} = \frac{-1}{\frac{1}{r}} = -r$$

$$\lim_{a \rightarrow 1} \frac{r+1 - \sqrt{r+1}}{r+1 - \sqrt{r+1}} \xrightarrow[\text{HOP}]{\frac{0}{0}} \frac{r - \frac{r}{2\sqrt{r+1}}}{r - \frac{r}{2\sqrt{r+1}}} = \frac{r - \frac{r}{2}}{r - \frac{r}{2}} = 1$$

$$\frac{-1}{\frac{1}{r}} = -r$$

$$\lim_{a \rightarrow 0} \frac{a + \sqrt{b+1}}{a} = \frac{1}{\epsilon} \xrightarrow[\text{HOP}]{\frac{0}{0}} \frac{\frac{b}{2\sqrt{b+1}}}{1} = \frac{1}{\epsilon} \quad \frac{ab}{c} = ?$$

$$\epsilon b = \sqrt{b+1} \rightarrow \epsilon b = \sqrt{b+1} \rightarrow \epsilon b = \sqrt{b+1}$$

$$\frac{a + \sqrt{b+1}}{a} \sim \frac{\sqrt{b+1}}{a} \sim \frac{1}{a} \rightarrow \frac{1}{a} = \frac{1}{\epsilon} \rightarrow \epsilon = a$$

$$\lim_{a \rightarrow -r} \frac{\epsilon + k \left[\frac{a}{a} \right]}{\sin a} = \infty \quad \begin{aligned} & \text{if } (-r a)^+ = \frac{-r k + \epsilon}{a} \sim -r k + \epsilon \rightarrow k < r \\ & \text{if } (-r a)^- = \frac{-r k + \epsilon}{a} \sim -r k + \epsilon \rightarrow k > r \end{aligned}$$

$$\lim_{a \rightarrow b} \frac{b \sqrt{r+1} - r b}{a a - b} = \frac{r b - r b}{a a - b} = 0 \quad \text{if } a = b$$

$$\frac{0}{0} \xrightarrow[\text{HOP}]{} \frac{b}{b \times \frac{1}{2\sqrt{r+1}}} = \frac{1}{\frac{1}{r}} = \frac{b}{\frac{1}{r}} = \frac{b r}{1} = b r$$